PSC NO: 87 GAS
NEW YORK STATE ELECTRIC & GAS CORPORATION
STATEMENT TYPE: NGV
STATEMENT NO: 77

**EFFECTIVE DATE: 06/01/2003** 

## STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# Owego Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market E Ceiling per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$1.1574	\$1.320	\$1.3557	\$1.546	\$1.1574	\$1.320
Category 1B	\$1.1574	\$1.320	\$1.5464	\$1.763	\$1.1598	\$1.322
Category 1C	\$1.1574	\$1.320	\$1.2330	\$1.406	\$1.1574	\$1.320
Category 2A	\$1.1770	\$1.342	\$1.3557	\$1.546	\$1.1770	\$1.342
Category 2B	\$1.1770	\$1.342	\$1.5464	\$1.763	\$1.1792	\$1.345
Category 2C	\$1.1770	\$1.342	\$1.2330	\$1.406	\$1.1770	\$1.342
WITH COMPR	ESSION:					
Category 3A	\$1.0308	\$1.175	\$1.3557	\$1.546	\$1.0308	\$1.175
Category 3B	\$1.0308	\$1.175	\$1.5464	\$1.763	\$1.0308	\$1.175
Category 3C	\$1.0308	\$1.175	\$1.2330	\$1.406	\$1.0308	\$1.175
WITHOUT COI	MPRESSION:					
Category 3A	\$1.0112	\$1.153	\$1.3557	\$1.546	\$1.0112	\$1.153
Category 3B	\$1.0112	\$1.153	\$1.5464	\$1.763	\$1.0112	\$1.153
Category 3C	\$1.0112	\$1.153	\$1.2330	\$1.406	\$1.0112	\$1.153
Category 4	\$1.1770	\$1.342	\$1.3557	\$1.546	\$1.1770	\$1.342

STATEMENT TYPE: NGV STATEMENT NO: 77 PAGE: 2

# STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# Goshen

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor per Therm	Rate per Gal. EquivInt	Market Ceiling per Therm		Applicable Gas Vehit per Therm	
Category 1A	\$1.1886	\$1.355	\$1.3715	\$1.564	\$1.1879	\$1.354
Category 1B	\$1.1886	\$1.355	\$1.5464	\$1.763	\$1.1879	\$1.354
Category 1C	\$1.1886	\$1.355	\$1.2315	\$1.404	\$1.1879	\$1.354
Category 2A	\$1.2083	\$1.378	\$1.3715	\$1.564	\$1.2075	\$1.377
Category 2B	\$1.2083	\$1.378	\$1.5464	\$1.763	\$1.2075	\$1.377
Category 2C	\$1.2083	\$1.378	\$1.2315	\$1.404	\$1.2075	\$1.377
WITH COMPRESSION:						
Category 3A	\$1.0355	\$1.181	\$1.3715	\$1.564	\$1.0355	\$1.181
Category 3B	\$1.0355	\$1.181	\$1.5464	\$1.763	\$1.0355	\$1.181
Category 3C	\$1.0355	\$1.181	\$1.2315	\$1.404	\$1.0355	\$1.181
WITHOUT CO	MPRESSION	l:				
Category 3A	\$1.0158	\$1.158	\$1.3715	\$1.564	\$1.0158	\$1.158
Category 3B	\$1.0158	\$1.158	\$1.5464	\$1.763	\$1.0158	\$1.158
Category 3C	\$1.0158	\$1.158	\$1.2315	\$1.404	\$1.0158	\$1.158
Category 4	\$1.2083	\$1.378	\$1.3715	\$1.564	\$1.2075	\$1.377

STATEMENT TYPE: NGV STATEMENT NO: 77 PAGE: 3

# STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# **Lockport Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Gal. Therm EquivInt		Market Based Ceiling Rate per per Gal. Therm EquivInt		Applicable Natural Gas Vehicle Rate per per Gal. Therm EquivInt	
Category 1A	\$1.2585	\$1.435	\$1.3934	\$1.589	\$1.2579	\$1.434
Category 1B	\$1.2585	\$1.435	\$1.3934	\$1.589	\$1.2579	\$1.434
Category 1C	\$1.2585	\$1.435	\$1.2585	\$1.435	\$1.2579	\$1.434
Category 2A	\$1.2780	\$1.457	\$1.3934	\$1.589	\$1.2775	\$1.457
Category 2B	\$1.2780	\$1.457	\$1.5464	\$1.763	\$1.2775	\$1.457
Category 2C	\$1.2780	\$1.457	\$1.2780	\$1.457	\$1.2775	\$1.457
WITH COMPR	ESSION:					
Category 3A	\$1.0321	\$1.177	\$1.3934	\$1.589	\$1.0321	\$1.177
Category 3B	\$1.0321	\$1.177	\$1.5464	\$1.763	\$1.0321	\$1.177
Category 3C	\$1.0321	\$1.177	\$1.2330	\$1.406	\$1.0321	\$1.177
WITHOUT CO	MPRESSION	:				
Category 3A	\$1.0125	\$1.155	\$1.3934	\$1.589	\$1.0125	\$1.155
Category 3B	\$1.0125	\$1.155	\$1.5464	\$1.763	\$1.0125	\$1.155
Category 3C	\$1.0125	\$1.155	\$1.2330	\$1.406	\$1.0125	\$1.155
Category 4	\$1.2780	\$1.457	\$1.3934	\$1.589	\$1.2775	\$1.457

STATEMENT TYPE: NGV STATEMENT NO: 77 PAGE: 4

## STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# Elmira Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Gal. Therm EquivInt		Market Based Ceiling Rate per per Gal. Therm Equivlnt		Applicable Natural Gas Vehicle Rate per per Gal. Therm EquivInt	
		•	_	•	-	•
Category 1A Category 1B	\$1.1719 \$1.1719	\$1.336 \$1.336	\$1.3715 \$1.5464	\$1.564 \$1.763	\$1.1712 \$1.1712	\$1.335 \$1.335
Category 1C	\$1.1719	\$1.336	\$1.2330	\$1.406	\$1.1712	\$1.335
Category 2A Category 2B Category 2C	\$1.1914 \$1.1914 \$1.1914	\$1.359 \$1.359 \$1.359	\$1.3715 \$1.5464 \$1.2330	\$1.564 \$1.763 \$1.406	\$1.1907 \$1.1907 \$1.1907	\$1.358 \$1.358 \$1.358
WITH COMPR	ESSION:					
Category 3A	\$1.0209	\$1.164	\$1.3715	\$1.564	\$1.0209	\$1.164
Category 3B Category 3C	\$1.0209 \$1.0209	\$1.164 \$1.164	\$1.5464 \$1.2330	\$1.763 \$1.406	\$1.0245 \$1.0209	\$1.168 \$1.164
WITHOUT CO	MPRESSION:					
Category 3A	\$1.0013	\$1.142	\$1.3715	\$1.564	\$1.0013	\$1.142
Category 3B Category 3C	\$1.0013 \$1.0013	\$1.142 \$1.142	\$1.5464 \$1.2330	\$1.763 \$1.406	\$1.0052 \$1.0013	\$1.146 \$1.142
Category 4	\$1.1914	\$1.359	\$1.3715	\$1.564	\$1.1907	\$1.358

STATEMENT TYPE: NGV STATEMENT NO: 77 PAGE: 5

## STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# **Combined Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Gal. Therm EquivInt		Market Based Ceiling Rate per per Gal. Therm EquivInt		Applicable Natural Gas Vehicle Rate per per Gal. Therm EquivInt	
Category 1A	\$1.1719	\$1.336	\$1.3645	\$1.556	\$1.1712	\$1.335
Category 1B	\$1.1719	\$1.336	\$1.5464	\$1.763	\$1.1712	\$1.335
Category 1C	\$1.1719	\$1.336	\$1.2293	\$1.402	\$1.1712	\$1.335
Category 2A	\$1.1914	\$1.359	\$1.3645	\$1.556	\$1.1907	\$1.358
Category 2B	\$1.1914	\$1.359	\$1.5464	\$1.763	\$1.1907	\$1.358
Category 2C	\$1.1914	\$1.359	\$1.2293	\$1.402	\$1.1907	\$1.358
WITH COMPR	ESSION:					
Category 3A	\$1.0209	\$1.164	\$1.3645	\$1.556	\$1.0209	\$1.164
Category 3B	\$1.0209	\$1.164	\$1.5464	\$1.763	\$1.0209	\$1.164
Category 3C	\$1.0209	\$1.164	\$1.2293	\$1.402	\$1.0209	\$1.164
WITHOUT CO	MPRESSION:					
Category 3A	\$1.0013	\$1.142	\$1.3645	\$1.556	\$1.0013	\$1.142
Category 3B	\$1.0013	\$1.142	\$1.5464	\$1.763	\$1.0013	\$1.142
Category 3C	\$1.0013	\$1.142	\$1.2293	\$1.402	\$1.0013	\$1.142
Category 4	\$1.1914	\$1.359	\$1.3645	\$1.556	\$1.1907	\$1.358

Received: 05/29/2003 Status:

Status: CANCELLED Effective Date: 06/01/2003

STATEMENT TYPE: NGV STATEMENT NO: 69

PAGE: 6

## STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# **Binghamton Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market I Ceiling per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$1.1582	\$1.321	\$1.3557	\$1.546	\$1.1582	\$1.321
Category 1B	\$1.1582	\$1.321	\$1.5464	\$1.763	\$1.1598	\$1.322
Category 1C	\$1.1582	\$1.321	\$1.2330	\$1.406	\$1.1582	\$1.321
Category 2A	\$1.1777	\$1.343	\$1.3557	\$1.546	\$1.1777	\$1.343
Category 2B	\$1.1777	\$1.343	\$1.5464	\$1.763	\$1.1792	\$1.345
Category 2C	\$1.1777	\$1.343	\$1.2330	\$1.406	\$1.1777	\$1.343
WITH COMPR	ESSION:					
Category 3A	\$1.0053	\$1.146	\$1.3557	\$1.546	\$1.0053	\$1.146
Category 3B	\$1.0053	\$1.146	\$1.5464	\$1.763	\$1.0245	\$1.168
Category 3C	\$1.0053	\$1.146	\$1.2330	\$1.406	\$1.0384	\$1.184
WITHOUT CO	MPRESSION:	:				
Category 3A	\$0.9857	\$1.124	\$1.3557	\$1.546	\$0.9857	\$1.124
Category 3B	\$0.9857	\$1.124	\$1.5464	\$1.763	\$1.0052	\$1.146
Category 3C	\$0.9857	\$1.124	\$1.2330	\$1.406	\$1.0190	\$1.162
Category 4	\$1.1777	\$1.343	\$1.3557	\$1.546	\$1.1777	\$1.343

STATEMENT TYPE: NGV STATEMENT NO: 77 PAGE: 7

## STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2003

# **Champlain Area**

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market E Ceiling per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$0.9834	\$1.121	\$1.3715	\$1.564	\$1.1706	\$1.335
Category 1B	\$0.9834	\$1.121	\$1.5464	\$1.763	\$1.1598	\$1.322
Category 1C	\$0.9834	\$1.121	\$1.2315	\$1.404	\$1.1127	\$1.269
Category 2A	\$1.0029	\$1.144	\$1.3715	\$1.564	\$1.8997	\$2.166
Category 2B	\$1.0029	\$1.144	\$1.5464	\$1.763	\$1.1792	\$1.345
Category 2C	\$1.0029	\$1.144	\$1.2315	\$1.404	\$1.1320	\$1.291
WITH COMPR	ESSION:					
Category 3A	\$0.8247	\$0.940	\$1.3715	\$1.564	\$0.9519	\$1.085
Category 3B	\$0.8247	\$0.940	\$1.5464	\$1.763	\$1.0245	\$1.168
Category 3C	\$0.8247	\$0.940	\$1.2315	\$1.404	\$0.9628	\$1.098
WITHOUT CO	MPRESSION:					
Category 3A	\$0.8051	\$0.918	\$1.3715	\$1.564	\$0.9325	\$1.063
Category 3B	\$0.8051	\$0.918	\$1.5464	\$1.763	\$1.0052	\$1.146
Category 3C	\$0.8051	\$0.918	\$1.2315	\$1.404	\$0.9435	\$1.076
Category 4	\$1.0029	\$1.144	\$1.3715	\$1.564	\$1.1900	\$1.357